




Le	
  schéma	
  ci-­‐dessous	
  se	
  rapporte	
  aux	
  questions	
  4	
  et	
  5.	
  Il	
  représente	
  un	
  fragment	
  d’épithélium	
  

prélevé	
  chez	
  une	
  jeune	
  fille.	
  

	
  

	
  

	
  

Question	
  4	
  :	
  D’après	
  ces	
  données	
  :	
  

	
  

A) Ce	
  fragment	
  a	
  pu	
  être	
  prélevé	
  au	
  niveau	
  de	
  l’œsophage	
  ou	
  du	
  vagin.	
  

B) En	
   superficie,	
   on	
   trouve	
   des	
   cornéocytes	
   qui	
   sont	
   reliés	
   entre	
   eux	
   par	
   des	
  

cornéodesmosomes.	
  

C) La	
  cellule	
  A	
  peut	
  être	
  une	
  cellule	
  souche.	
  

D) La	
   cellule	
   A	
   peut	
   se	
   différencier	
   en	
   kératinocytes,	
   en	
   mélanocytes	
   ou	
   en	
   cellules	
   de	
  

Langerhans.	
  

E) La	
  cellule	
  A	
  est	
  une	
  cellule	
  engagée.	
  

	
  

Question	
  5*	
  :	
  On	
  veut	
  étudier	
  dans	
  ce	
  tissu	
  l’expression	
  de	
  la	
  filaggrine	
  et	
  de	
  la	
  sous-­‐unité	
  

β3	
   des	
   intégrines.	
   On	
   dispose	
   pour	
   cela	
   d’un	
   anticorps	
   polyclonal	
   produit	
   par	
   un	
   lapin	
  

immunisé	
   avec	
   de	
   la	
   filaggrine	
   humaine	
   et	
   d’un	
   anticorps	
   monoclonal	
   produit	
   chez	
   la	
  

souris	
  reconnaissant	
  spécifiquement	
  la	
  sous-­‐unité	
  β3	
  des	
  intégrines.	
  On	
  dispose	
  également	
  

d’un	
   anticorps	
   reconnaissant	
   les	
   immunoglobulines	
   de	
   lapin,	
   marqué	
   avec	
   un	
  

fluorochrome	
   vert	
   et	
   d’un	
   anticorps	
   reconnaissant	
   les	
   immunoglobulines	
   de	
   souris,	
  

marqué	
  avec	
  un	
  fluorochrome	
  rouge.	
  Après	
  l’immunomarquage	
  :	
  

	
  

A) L’observation	
  d’une	
  fluorescence	
  verte	
  dans	
  la	
  partie	
  apicale	
  du	
  tissu	
  est	
  attendue.	
  

B) L’observation	
  d’une	
  fluorescence	
  verte	
  au	
  niveau	
  de	
  l’ensemble	
  des	
  contacts	
  intercellulaires	
  

est	
  attendue.	
  

C) L’observation	
  d’une	
  fluorescence	
  verte	
  au	
  niveau	
  de	
  la	
  couche	
  basale	
  doit	
  faire	
  suspecter	
  un	
  

manque	
  de	
  spécificité	
  de	
  l’anticorps	
  polyclonal.	
  

D) L’observation	
  d’une	
  fluorescence	
  rouge	
  au	
  niveau	
  de	
  l’ensemble	
  des	
  contacts	
  intercellulaires	
  

est	
  attendue.	
  

E) L’observation	
  d’une	
  fluorescence	
  rouge	
  au	
  niveau	
  de	
  la	
  couche	
  basale	
  doit	
  faire	
  suspecter	
  un	
  

manque	
  de	
  spécificité	
  de	
  l’anticorps	
  polyclonal.	
  

	
  

	
  

	
  

	
  

	
  



Le	
  texte	
  ci-­‐dessous	
  concerne	
  les	
  questions	
  6	
  et	
  7	
  :	
  	
  

	
  

On	
   considère	
   un	
   épithélium	
   simple	
   dont	
   les	
   cellules	
   présentent	
   à	
   leur	
   pôle	
   apical	
   des	
   pompes	
  

capables	
  d’expulser	
  des	
  ions	
  H
+	
  
	
  et	
  de	
  faire	
  pénétrer	
  des	
  ions	
  K

+
	
  et	
  des	
  symports	
  K

+
	
  /	
  Cl

-­‐
.	
  C’est	
  l’ion	
  K

+
	
  

qui	
  fournit	
  l’énergie	
  nécessaire	
  au	
  fonctionnement	
  de	
  ces	
  symports.	
  Sur	
  la	
  membrane	
  baso-­‐latérale,	
  

on	
  trouve	
  des	
  antiports	
  HCO3
-­‐
	
  /	
  Cl

-­‐
	
  et	
  des	
  pompes	
  Na

+
	
  /	
  K

+
.	
  C’est	
  l’ion	
  bicarbonate	
  (HCO3

-­‐
)	
  qui	
  fournit	
  

l’énergie	
   nécessaire	
   au	
   fonctionnement	
   des	
   antiports.	
   Les	
   cellules	
   captent	
   du	
   CO2	
   au	
   pôle	
   baso-­‐

latéral	
   à	
   partir	
   du	
   sang.	
   Les	
   ions	
   bicarbonates	
   sont	
   formés	
   dans	
   le	
   cytosol	
   par	
   une	
   enzyme,	
  

l’anhydrase	
  carbonique,	
  qui	
  catalyse	
   la	
   réaction	
  suivante	
  :	
  CO2	
  +	
  H2O	
  à	
  HCO3
-­‐
	
  +	
  H

+
.	
  Dans	
   le	
  milieu	
  

interstitiel,	
   les	
   bicarbonates	
   forment	
   du	
   CO2.	
   Les	
   jonctions	
   serrées	
   sont	
   perméables	
   à	
   l’eau	
   mais	
  

imperméables	
  aux	
  ions.	
  

	
  

Question	
  6	
  :	
  Au	
  niveau	
  de	
  cet	
  épithélium	
  :	
  

	
  

A) Le	
  CO2	
  entre	
  dans	
  la	
  cellule	
  grâce	
  à	
  l’antiport	
  HCO3
-­‐
	
  /	
  Cl

-­‐
	
  .	
  

B) Le	
  CO2	
  	
  passe	
  à	
  travers	
  la	
  bicouche	
  lipidique	
  de	
  la	
  membrane	
  baso-­‐latérale.	
  

C) Le	
  CO2	
  	
  entre	
  dans	
  la	
  cellule	
  par	
  diffusion.	
  

D) Les	
  transports	
  de	
  chlorures	
  sont	
  actifs.	
  

E) Il	
  y	
  a	
  acidification	
  du	
  liquide	
  se	
  trouvant	
  dans	
  la	
  lumière.	
  

	
  

Question	
  7*	
  :	
  D’après	
  les	
  données	
  ci-­‐dessus,	
  vous	
  pouvez	
  affirmer	
  :	
  	
  

	
  

A) Qu’il	
   y	
   a	
   passage	
   d’eau	
   depuis	
   la	
   lumière	
   de	
   l’organe	
   vers	
   le	
   liquide	
   interstitiel	
   par	
   voie	
  

transcellulaire.	
  

B) Qu’il	
   y	
   a	
   passage	
   d’eau	
   depuis	
   la	
   lumière	
   de	
   l’organe	
   vers	
   le	
   liquide	
   interstitiel	
   par	
   voie	
  

paracellulaire.	
  

C) Que	
  les	
  chlorures	
  entrent	
  dans	
  la	
  cellule	
  grâce	
  aux	
  symports	
  	
  K
+
	
  /	
  Cl

-­‐
.	
  

D) Qu’il	
  y	
  a	
  passage	
  de	
  chlorures	
  depuis	
  le	
  liquide	
  interstitiel	
  vers	
  la	
  lumière	
  de	
  l’organe	
  par	
  voie	
  

transcellulaire.	
  

E) Qu’il	
  y	
  a	
  passage	
  de	
  sodium	
  depuis	
  le	
  liquide	
  interstitiel	
  vers	
  la	
  lumière	
  de	
  l’organe	
  par	
  voie	
  

transcellulaire.	
  

	
  

Question	
  8	
  :	
  Les	
  cellules	
  dites	
  «	
  résidentes	
  »	
  du	
  tissu	
  conjonctif	
  :	
  	
  

	
  

A) Sont	
  présentes	
  dans	
  tous	
  les	
  tissus	
  conjonctifs	
  non	
  adipeux	
  et	
  on	
  sanguins.	
  

B) Sont	
  d’origine	
  hématopoïétique.	
  

C) Sont	
  d’origine	
  mésoblastique	
  (ou	
  mésenchymateuse).	
  

D) Sont	
  principalement	
  représentées	
  par	
  les	
  fibroblastes	
  et	
  les	
  fibrocytes	
  qui	
  sont	
  deux	
  formes	
  

fonctionnelles	
  d’une	
  même	
  cellule.	
  

E) Sont	
   capables	
   de	
   biosynthèses	
   polymorphes	
   (glycosaminoglycanes,	
   collagènes,	
   élastine,	
  

fibrilline…).	
  




























